Dental Gerontology

1.  North American society is aging. This fact was recently (in the past 20 years) described in the literature. It is attritubted to improvements in pre and post natal morbidity.
a. True

b. False **

2. The overall, worldwide growth rate for geriatric patients is expected to increase at a rate that exceeds general growth trends.

a. True**

b. False

3. Generally, societies age at the same rate despite economic and cultural differences.

a. True

b. False**

4. Which of the following demographic groups shows the fastest growth?

a. Near Old

b. Old

c. Old Old**

d. Way Old

5. Although there is extensive poverty in the United States, more persons over the age of 60 today have dental insurance than in the past

a. True**

b. False

6. The rates of tooth retention have increased in the past 20 years.

a. True**

b. False

7. There is considerable variation in the effects of aging on healthy individuals, with some people exhibiting greater and others evidencing few or no age-related alterations in physiologic functions.

a. True**

b. False

8. Much of the increase in life expectancy resulted from prevention of premature deaths related to infections and other environmental hazards, rather than a demonstrated ability to prolong life through medical interventions and medications.

a. True**

b. False

9. A normal consequence of aging on the gastrointestinal tract is a decrease in the production of gastric acid. Left untreated, this results in malabsorbtion syndrome and eventually malnutrition.

a. True

b. False**

10. Most sensory systems exhibit some deterioration with age.

a. True**

b. False

11. In most Americans, body mass increases until middle age in both sexes and begins to decrease after age 70 years.
a. True**

b. False

12. A steady loss in skeletal muscle mass - sarcopenia – occurs with aging, particularly beyond 50 years, and it primarily reflects a loss of number and, to a lesser extent, size of muscle fibers.

a. True**

b. False

13. Bone remodeling begins at or around puberty and slows (and in many cases stops) around menopause for women and andropause for men.

a. True

b. False**

14. With increasing adult age, joint flexibility declines, due mainly to osteoarthritis. In the absence of osteoarthritis (and other joint disease), joint flexibility remains remarkably constant

a. True

b. False**

15. It is generally agreed that advancing age causes marked deterioration in the nervous system.

a. True

b. False**

16. Hearing loss, particularly of high-frequency sound, is almost an invariable consequence of advancing age.

a. True**

b. False

17. Which of the following affect the vision of aging patients:

a. A reduced number of retinal cones

b. Lessened ability to alter pupil size in response to light intensity

c. Decreased ability of retinal rods to adapt to low-intensity light

d. Al l of the above**

18. A lifetime of secondary dentin deposition, often exaggerated by caries, occlusal or incisal wear, cervical abrasions, of the placement of multiple restorations results in teeth that have smaller pulp chambers.

a. True**

b. False

19. Teeth with multiple restorations in aging patients are less responsive to stimuli and have less dentinal porosity.

a. True**

b. False

20. Teeth in aging patients are increasingly brittle and probably have a diminished capacity to mount a defensive odontoblastic response to pulpal exposure.

a. True**

b. False

21. The periodontium of aging patients remains remarkably consistent throughout the aging process.

a. True

b. False**

22. Epidemiologic studies of the dentate elderly show that the number of decayed and filled root surfaces in patients remains stable throughout the aging process.

a. True

b. False**

23. The only epidemiologic factor to consider in root caries in xerostomia.

a. True

b. False**

24. Xerostomia is a normal consequence of aging.

a. Ture

b. False**

25. The instraoral soft tissures of the older patient must be carefully assessed for leukoplakia and erythroplakia: 40% of all squamous cell carcinoma in the United States occurs in patients over 50years of age.
a. True

b. False**

26. Denture stomatitis is a major problem in the aging population. The prevalence of denture stomatitis has been reported to be as low as 65% in noninstitutionalized denture wearing populations.

a. True**

b. False

27. Which of the following are important when assessing the patient’s capability to receive dental care:

a. The patient voluntarily seeks care

b. The patient accepts responsibility to arrive for care at a mutually agreeable time

c. The patient supports the goals of treatment by providing an adequate level of home care

d. All of the above**

28. A widely accepted scale of the patients ability to provide consent for care is the Toronto Ability Scale.

a. True

b. False**

29. By 2030 the population of older patients belonging to a minority group will triple.

a. True**

b. False

30. Which racial or ethnic group is projected to grow the fastest between today and 2050?

a. African American

b. Asian

c. Hispanic**

d. Caucasian

e. None of the above

31. There is little documented variation of the effects of aging on individuals aging in health.

a. True

b. False**

32. Physiologists generally agree that bone remodeling stops around menopause for women and andropause for men.

a. True

b. False**

